MEMELSE OTHE HFEWAERLE pp.734~738

I TF 4F = 71T g 3% AT
A Study on the Indexing Table by the Pneumatic Operation

2 Z oHEtety cistd), 2 o A(F)FH REHIF), 8 & (A JiABEY)
Changsoo Han(Hanyang Univ.), Inkak Gang(Jukang Robotech), Jinan Oh(Graduate School, Hanyang Univ.),

ABSTRACT

In this study, we developed the indexing table operating by pneumatic actuation. We doubled the torque
of index table by using specialy designed air pipe and two pistons. And by locating two pistons
simmetrically about rotaing axis, the effciency of space is maximized.

We perform several tests and this results is written below.

Key Words : index table, torque, pneumatic actuation

1. ME

2 dFdME A2E $49 3V 7F 9F ¥
& 7178 AASIY. € a7 AEE 4F ¥
Z 71FE 7Y IS o) 8% d4F ¥E VT
gt 28 2719 2L AR S5dA Al
g B2E w2 ¢4F 0|8 AL FYHE F
A ¢ dE S MFEA AL

2. 71719 == & #al

B AF6A Add TG 4F & 7179 +F
2o A3 EE Fig 213 2}

Y ge] H2E A Bole MY Hol shFH
of 1, UFo2HE F2E AL HIH}Y
23 o]y (Wearing)ol #a5e] Qi 7]1&9 F
1Y TE 4F ¥E 7T % Ao f2Eoz 3
AE-g SN $Ed, £ A7 gy
g% 7192 A B 2719 92802 FASHY Ut
&, H2E AdA FIFHAE 4F FrlE EFIHA
Azd #2F e EAe AvE EFR3d B 9
2B @ Zo) FFHDZ 299 FEYL dg& F
glon, o] 2749 A2EL JAZE FHo= giF
o2 wjd=o] glol ¥ A&l FustE sl

Fig. 2.1 Schematic of Rotary Actuator

2709 H2EMN PYAE AN 5L & 77 F
Ao AT HUdd) oj&te AHe R uigo] B
EZ 4729 W2 Z(Inner Shaft)d] S¥o] AgH
A Ak W& %3 € Ho)E(Tumn Table)Alo)d =
Fex wlojgPo] XA Hn, X wojg9
YL 3 F wgoz AY o= HEH 97
9] FE $EE 9wHIHE 285t delHr U= g
glo] 1 (Retainer)oll A Yd=Ho] Helola 9L &
Hol, @43 awd NAYL SPYAIA |
Fig. 2261 Ad=7t s} el

- 734-



TURN TABLE

oM oLuien
Fig. 2.2 Cam Clutch

A3te A dxx 92E A B A4 9 2
AHm, o] £ Jl9 HAEL WU g5 E7
TEFE A HER 9AE A9 AL IYAdE
AxA  H2E BY $Sde HXE AEY
(Stopper) Bell 9 Aolgdm =8 HAE A9 3
AL 2F9 Ad 939 Aojdnt. 28R 279
£59 oz ¥2E9 yY A F JA &
AA Alejrt shsEth 28U 98 AAge ~
Fo9 vl 24 wtozE I HAol Vs
o, €21 wojyge T RIHA &Y(Slp) S
FAY 71 eng d%9 E3a(Dock) FAES
A5t P FEAGNE 94X dH o2 GLEm
FiRe FEAE Biola e & ¢ A @
o2d FEY 4L 9L F o9 Fig. 237
o 2 dozx 4 AU™(Docking Cylinder)
9] Edo] 9302 Ho] oy HAAZE H7) §
4 33 glojor A AHLL 4 4 U,

CALMATION AMOLE of DOCIING

WANIED MY

éz% D siouw of pston-ase
> T

) />

—-735-

Fig. 2.3 Position Setting

AANHA ¥4L Fig. 249 2o}

TURN TABLE
INNER SHAFT
CAM CLUTCH

PISTON
=T

MAIN BODY

1|
\PINION_SHAFT

Fig. 2.4 Composite Drawing

MY

3 7

0x
4r
o
10

MED SN

74 ¥E9 7% 458§ AW AW} 248
o oea P

31 Y=A

Table 1.9 94249 9, A, 743 3 R A
AFHE A



] ks 3 FIFAE

3
rotary |A6061 48+88+148 (1 [B Ao} t}o]
body
piston _ |SUS304 ¢ 30+100 |2
driving |SCM D40+47 |1 |1FH A
gear ]
bearing |A2024 D72+8 1|& 9ol t}o]A
cover
turn A2024 072+20 |1 | Meficcho]
table
back A6061 16%46+88 |1 |Z Ao} =t}e]A
cover A
back A6061 16%46+88 |1 |ZAo}x=t}e]
cover B

stopper |SM45C P20+51 2 |l ET
stopper |SM45C D20%51 2 |°lBEF
stopper |SM45C 23520 2 |AFER
nut
stopper |M/C nylon |@ 177 2

Table 1. Raw Material

32 948

285 A8 £9, 74, £% $& Table 2.
o Ae)sdot.

9 T4 & b3
%

wrench bolt M5*15 10

wrench bolt M4+8 4

o-ring P4 4

piston packing (PSD30 4

wearing @30+1.5T*3mm 4

magnet @ 4x3 2

wrench bolt M5*20 6

ball bearing 6807ZZ(@ 35+ P47+ |1 90" &

ball bearing 6804ZZ(0 20+ 932+*7) |1 |180° &

o-ring G30 2

o-ring G30 2

wrench bolt M3%12 2

o-ring P18 2

ball 025 6

4. 71712l ¥4 AME

41 &% AN ¥

ZE YL A% AP ag Ao vtE £
om, A NYold B, FurAHE orjn ¥l
ojFAAE HA9 ¢HE J7ld FF3HA ojH
=27 AHg Aagez F A%, =Y 4 5
AAs el met AEe GHEA FTA A
& gEe 2739 okg/em29) FEE FTHIHA A
g FHe g3 9% 2 BEY 9 Y, ¥
o x7) wt=, 3719 ¥4 $& JAEE oI

411 At A

dEolZd AXEL JHEFE & AXNE AR 7F
#3 Ea AXE AEed 27 FFo] o}FoA
% ge HA F/EE FAEE olde {HHe
0.5kg/cm® o] tholej ok et

Ag NG g9 AoANE ZAsY lkg/em’d) F
gto] BRHE AN T2 FHE §U¢ A3
52 3t} ol BFL AFHOER AT AFH
A o120 AxE &9 AGA H2Ed 8 I
AAE BAF Fo] ng A BFAS
wEech AYT LA HAAR Y wge &
2982 93ss FA AR @44 A4F Aoy
ojul &) Ml 0.05mmE 2H3A| kool At

412 2 AY

Skg/em’el /1% FFR g3 Fe oY Y5
& AA,

~grle] FHARE 29UE EXE ¥ 7|EY wA
#%8 14502 PAE

~AAF A %9 AAE o9 B2 Imol 4l
Qolol AEE AAAA 10008 o1¥e) FANYS
AN® F A9 FE ode EQ ARE BAR
o ojd WAY AF ¥ o fuoel ¥
9= 7128 £3Y & 9= 9 4718 A,
o £ §71E £FE EA%C W Y ¢
& 2400 B¢ old 229 dAN Y& 2A
%7 AT 49 2 obdel §717h AR seiol
ol w28 719 F& F7) 2B 1/10000)%
SRR

A% 23 TAY Fol Fe ouz IS vE
Rse gARGh

-1736-



MR wBE(CC)

120
110
100
%0
80 -
70 /
60
%0 ’
40
o /
20
0
0 200 400 600 800 1000

R (1)

Fig. 4.1 Leakage Air Volume

Yol awW=g ENs 29, 100 olUlg 7] F
Aol 719 ¥EFHo| vEF FHAE olFn
o ol Fr] W@ FdI A FA Elld F
717V Ao AE Fd o8 Huld Aoz &4
g 4 gl

42 Wt N9

4189 33t A¥FA tBeo] ¥FE 600mmHgold
o] Y TP AEFE E3 1003 o]F T2 A
gg @k 2@ d7Ig FddA AF HFA JF
25 Adsto WiYg FAE 1003 o) A ¥
olddl= U &¥AQ ¥ ¥F 4% % &AF
ARG e ¥y 45 & HAR.

43 2= A¥

71 Adde &5 23L& 4 A8 &5 2P
o o3 AAHAY, A & 2P& -30 °C~
120 °C2 RS o Ef3 AAL ALY
ol = -55 *C~200 C7AA = 7Hsd dAzAY
2o g -10 °C~80 °CollA Abg3tE o] BH
A ojt},

29 Wzl oW BYE YA 3 wale
AL Aste 4 234 AT Asd nxE
ko] Romz EL3 AL Addstne 1Y
o] etrl

gdAR Qe 2xs Add AW E UES AF
& 93 AEAE AL R 2xE A, F
$ AAAHANAN FA FA3A 805 °C oliR #A
HA 3 of 10003 FXAYEL ¥ FALHE
& HAF UNNFY dARe WYH €AY A
A 58 a3,

-737-

44 34 34 AN ¥

olg4e PA 39 YAES] wwHy X FIYY
X ¥2E3x} wuyd Zze ZAA s HE=
Skg/cm’s] F71go] BRY © AE A4 Hg
g B 1555kg-cmZt ©th ©EH B9 FEL
dol AL e Azse o) el AL 10emst
A @ o) EZudE AW s s YA
52 g O|REE UATZE AV 279 U4
& lkg/em’lA Skg/em7HA BAHo T WEAF)
3 olwje] 2EAd 71ZE & Ut

10RQUE
(kg~cm ) 160

1%
140

130 /

120

™.

. /

0 ,7/

4] 1 2 3 &4 5 & 7 ——! —_—B

MR PRESSURE
(kg/cm 1)

Fig. 4.2 Torque Test Result

aRZE BN B2 AGAME aRZY rjev)
7t #2285l Q3 ol 27] viFd ¥ A¥e] gl
A&E vedng, EY agdMe & 77
H2Eolt Jlg FEFd F3FE wEE AYH)
ntggos Hgd LS FIHAYU e B F
om gubAe ALSFHQ 3~6kg/em7hA Y &
Hole A 71E71E FASRT o] AP
o4& vedEr

45 ¥ A 4= Ay

AN 10089 T2 AHE & F H2EH 9
¥ PPALE 53 A HH L 42 F oA
10009 F2 Ad Fof YHFAANE 53] FA3}A
Hog Aedd. FIUHE Ske/cm2oE FsA
7 100099 T2 APF BYALE 53] Ao
& AFd. 24N 10009 T3} AHEF



o P9PALDE 53 FA%} FEE HF P

SIROKE
(0 0DIM/M)
60
50 -
a0 f— -
30 | bl e
o | 1= S G Gl el R
fbg /e’
o TN /: 1T skg et
P IR // -
9 Yhg/ren’
Vo fom} —f-—1- 2
-2 —— e ke —t L
N — [HEYLT
W e i Skgfen”
“0 . 2kg/em’
Y
0T e T e 800 1000

L L)

Fig. 4.3 Fatigue Deformation

oz A8E EHd B2y, ngddes 349
g% rez39 W3y B 78S 1 AR,
Aol e TR dAse FAdEY @$YH 84
7 A28 ¢ 4 At AYdE 2ERF9 W
2 AAE7E 0.02m/meliiel e AF9 AN E
Jelhe dxrt g

5 2HF « #E

B ApdME 219 H2ES AHE3te EF8A
Azd B2E g ¢4 FVE AL FHE
ZOAd 4 Jd= $HE AFA AEHAed &
A A dHojgo HEaArh EF AP ZTEEE
Joll dafiA A& 7= QAAE Pedvh

AdA vderd 3513 EAMEL oS3 g

D A4 2 3¢ AFA diF FEH7L o] FA
A ok HAL 71Ee] AEHl AA Fo} RFEY
A2 718E S ARGA A A7t A4 71ES H
= AFY it ad &k Ao,

2) AAF AFA i 2FHE EFE 4 A
Fol daFy ZANEE MG AHE: FEL 93
T AEE 42 F ol Y3 AHE 74 nF
ol @3kt

3) 52 4dv9 2= E9 FSYHF] T}
ow ol AARA MBYAY FAR FH{FE e
Reg FAHO o4 did AdH =2x=d Wx9
37 A FA FAE ;e o
HAELAA dEHolEd AAE EMS VY=
PH A2EZ} AAY Alojdl 34 &) &3
o BHY A3 A LAE& 2Fv9 ECd H¥A

U dxd FAY FHo) &S A
Ao o] 2§¥ AL /gt FHAFVNE
AEFoIn YAatatold 7jd & #AE F A&
T3 A7 e Aol 2 7dT.

o

Fig. 5.1 Picture of Prototype

- 738~



